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Honors Pre-Cale : Name
Practice 6.4 Polar Coordinates Date Block

" “il . Plot the following:
A. [6,115-) B. (3,—3—11:)
6 4

C. (8,x) D. (- 6,-53]

{e 2 Find the rectangular coordinates for each of the following polar coordim_ztes:

A [4,%) B. (8,— %’i] ¢ (c2-135) o (2,_ %,5 )
(-73,%) (-~ Ty (102, =118)

3 Given the rectangular coordinates below, find the polar coordinates satisfying the conditions given:

A, (3-3); r20 and Qs -=2m— B. (-5-5V3); r<0and @<O<x
r,;gﬁ [35—; -TL:) =)0 (IOIL"T'-/S)
. o =T
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